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There are inall 30 questions in this question paper. All questions are compulsory,

Question No. 1 to § carry onc mark cach. Question No. 9to 18 carry two marks cach, Question

No, 19 to 27 carry three marks each and Question No. 28 to 30 carry five marks each.

Question No.  to 4 are multiple choice questions. Here four options are given in each question.

Write the correct option in vour answer book.

There is no overall choice in question paper. however, an internal choice has been provided intwo
questions of 2 marks, thrce questions of 3 marks and all questions of 5 marks cach. You have to

attempt only one of the given choices mn such questions,

Use log tables, it necessary. Use of calculator is not permitted.
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The substances that enhance the activity of a catalyst, are called —

iy faw @) Ry (i) JdB (v) TR
Poisons Adsorbent Promoters Absorbent
2. K, fFe(CN),] H ITaRT BT SATERITERY] HARAT § — 1
The oxidation state of iron in K [Fe(CN), ] is -
Gy 1 (i) +2 {iiy +3 (iv) 0
3. 9 # O @b waie® orelid 8 — 1
Which of the following is most acidic —
() T (i) m-shIT (iii) A (iv) o--IEeImETA
Ethanol m-Cresol Phenol o-Nitrophenol
4. s Rear 95 [Aayd @7 &Bd & — ]
Ammoniacal silver nitrate solution is called —
() <few sfede  any @ afeds iy R sfreas (v R sl
Tollen’s reagent Fehling reagent Schiff’s reagent Girignard reagent

5. SIFUCN@RI | Sl T HAAT € 7 j
What do vou mean by Diazotisation ? '

6. vdl feu e S a3~ gar e ? 1

Deficicney of which vitamin causes Scurvy 7
vl & diferefi B9 T O 2 ? Saa NG SHISROT ST | 1
How polythene is prepared trom cthene ? Give chemical equation only.

g URREN @ e ¥ ? U SareRvl SN 1

What are antiseptics 7 Give an example.

1

0. fasafeRea usl o1 alnigg It — [+1 =2
Define the following terms—
() wicdr <9 @) BHd a
Schottky defect Frenkel defect
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A cubic solid 1s made of two elements [ and Q. Atoms ol Q are at the corners of the cube and I at the

hodv-center. What is the formula of the compound ? What are the co-ordmation numbers of Pand Q.
HAUCT (OR)

AT Theh DBISHT U G ey it H fag #ife |

Difterentiate between primitive unit cel! and centred unit cell.

BIEP ST B 4 ¢ (J[HIR 40y B O F GAdR 200 ml. ez g=man T | fdeaad 4
AT Llld @I | 2
4 ¢ of caustic soda tmolar mass - 43 is dissolved in water and the solution 1s made 1o 200 mL. Caleuluate
the molarity of the solution.

fensferfege Qoif w fore Ier arfafear fafae — -1 2
Write the cell reaction tor the following cells- -

W) e e THSO L H AT

@) (POTLHCT CLPY

J

erTaS gl Tewigs # e W B | 2

Clarify the difierence between anthanoid and Actinoid.

[NICL | SMgia@ma & Srafes (NiCo),| siagaara & Jafd ci-l aqepess & 1 7 2

[NICL) is paramagnetic while [NiFCO), | is diamagnetic though both are tetrahedral. Why'?

3A4GT (OR)

i

fererferiad ¥ & el @1 Ud Qqiedn) fgfao - 11
Give anexample of cach of the tollowing -
(@) AT FoTaged] () WepTT¥IR AT

Geometrical 1somerisim Optical isemerism
GARIBTH B qoid: W 1E TN el 3 S IUSReT [ar o)l B 7 3EeEd TErgiag
GO Al WISE | 2

Wihychloroform s siored in completely filled dirk coloured bottles 7 Fxplam with suitable chemical equation.

e arfafiratt of vatE wise \fed falkag - [=1 =2
Wrile the folloswing reactions with chemical equation -
() Wiod wde i (@) o1 st

Fricdel Crafts reaction Wurty reaction
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What arc transition elements and mner transition ¢lements 2 Clarify that why transition clements torm coloured

compounds.

I3
A

AT BT & orafd wrerfies, fade, qeitae goplerel — |Ya+]be =3
What happens when primary. secondary and tertiary alcohols are -
(@) o refRrgy uwiTYe R B w9 sreRiTed fh o 2
Oxidised using actdified potassium permanganate solution.
(@) 573K "R T BIR W yansd kY o B

Passcd over heated copper at 573 K.

26, i, fEdwe vd gdime UAET @ veae @ Y @ ool AR g affbaed @
YrTgfae wERe AT faRkau | ;

Describe a method for the identification of primary, secondary and tertiary amines. Also write chemical

equation for the reactions involved.

Ferar (OR)
37 URENE BT e # e gRafda w3 ? warafae guier wiEd e - 1 =3

How would vou convert Aniline into following 7 Write with chemical equation —

() FARIETSI (@) TN
Chlorobenzenc Fluorobenzene
7. (@) SEaTAd T IATALAS VHIAT 3 BT UH-Ud Ferer9l Iy | i
Give one example cach of essential and non-essential amine acids.
(@) DNA eIl RNA ¥ @7 o= BT 8 7 2
What is the difference between DNA and RNA?
28 (@) "em dife @) aifafar & forg @i 4 adieRvr @l geakt Bifaw | 3

Derive the integrated rate equation for first order reaction.
(@) ww vem Bife arffgar o 9 Rerid 231 x 10 “see” 8 | 59 HAAHAT B AT T
BT | 2

A first order reaction has a rate constant 2.31 x 107 sec ', Calculate the half-life of the reaction.

2@l (OR)
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What are transition elements and inner transition clements 2 Clarify that why transition elements form coloured

compounds.

w1 BT € Sfafd areifie, fgdas, gdae vemETer — Va1 =3
What happens when primary, secondary and tertiary alcohols are —
(@) i R TR faeEE @ vaiT § eneiigd Y W §
Oxidised using acidified potassium permanganate solution.
(@) 573K 9 9 Fluw W yarlRg 5 9 €

Passed over heated copper at 573 K.

| ]
L4

26, weifad, fgdiae @ gfme WA @ urae @ R @7 adts B0 59 s @
RIS IHREIe W el | 3

Deseribe a method for the identification of primary, secondary and tertiary amines. Also write chemical
equation for the reactions involved.

JATqT (OR)
ST T B F1 & d9 uRafia @ ° v e wia Bfar — 1k - 3

How would vou convert Aniline into following ? Write with chemical cquation —

() FAREI~H () FASRIEAT
Chlorobenzene Fluorobenzene
27. (@) SETID TAT AFEAAS VHIAL 37T BT UH—Tdh FETERV SIRAT | 1

Give one example cach of essential and non-essential amino acids.

(@) DNA TAT RNA H Ry 3= 8T & 7 2
What is the difference between DNA and RNA 7
28.  (®) ud wifc @) Afafrar & g wetod 3 9o @) AT BT 3

Derive the integrated rate equation for first order reaction.
(@) T verA Bife afdferar o ar Rerfas 2.31 10 *sec # 1 7 AFAfm 1 srgonsy o
éi !\ﬂ U o

A first order reaction has a rate constant 2.31 x 10 # sec ', Calculate the hall=life of the reaction,

31041 (OR)
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(@) A Sofl & Fsd & ° T siffhar o1 a7 Rerie fva wer wfhaor so 9
Frifad grar g 7 3
What 1s activation energy 7 How is the rate constant of a reaction related to activation encrgy ?

@) et @ anfeaear @ sifafbar & wife ¥ Tar sreR @ 7 2

What is ditference between molecularity of reaction and order of reaction ?

29, (#) @ 1 AU G $ A 98T o7 w09 g W g ) 2 1
Name two poisonous gascs which can be prepared from Chlorine gas.

() @i 18 @ dedl bl Fepte AAT B AR R ST o & 2 Sferam, feifa qur ainte

BT TH—UH UG gy | 2

Why are the elements of group 18 known as noble gases ? Give one use of each Helium. Neon and

Argon.
(m 80, fora UeR W Us a1y Ugud B 7 WE BT | 2
How 1s 80, an air pollutant ? Clarify.
3A4AT (OR)
T (Fxae) [ gR1 aewgRa oral & FTor a7 afas auiw A | wefag sifaisued
& FHIERO | IS0 | 3

Describe the manufacture of Sulphuric acid by Contact Process with labelled diagram. Give equation of

related reactions also.

30 (®) FHEHRITa® el & TG P harfafey o a9sngy | 3
I'xplain the mechanism of esterification of carboxylic acids.
(@) Ty <1 arfafransi o araiie wmeer wita forRae — 2

Write the following name reactions with chemical equations —

) BferaRT arfafehar (i) EeTpicins oifeiee sffmar
Cannizzaro reaction Hell-Volhard-Zelinsky reaction
3fAdT (OR)

e e Wa @ (@vge [F@, CH, 0,) B T ACHIRE o= & el FasraHfed
BIA B IR VS hHIfRIIE 3 W Ud Teh VEHIETH U WIRT 8$1 U @I BIiAD
T B T SfaiiaRT B W W I BT v | T Siel®ser W oege-1-4 &1 B
3ﬁﬁmaﬁwmﬂsﬁﬁwﬁwmﬁmﬂﬁwﬁﬁ%ﬁqqaw GGG S )
ggEar BT | 5
1, ,0,) was hydrolysed with dilute sulphuricacid to give

An organic compound (A) (molecular formula CH
acarboxylic acid (13) and an alcohol (C). Oxddation of {C) with chromice acid produced (B). (C) on dchydration
pives butl-1-ene. Write equations for the reactions involved and identify (A). (B)
and (C).
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